THSEREIOARMETEDHME

H—»

1. {Z2EORIE TR
(7 T
= FH % Bt & % | M IE %8 i firi =
— W & B 29,954,540 2,607,827| 32,562,367| BIHKDOE I
N H OB OE X W pE S
P R 3,864 2,512 SR (] N s S, 2,512
X B M E KX
%E TR 2,075 2,075
T T T
W, RS 760
(ONGE: (o) :5:ii)
E%ﬁ% Ji\{% Eﬁ 5,614,803 A 3,278 5,611,525 [FEfRFEE N4 A 6411
4
?"JX%P\J(%) 2,373
% oE i E R R e W 2 i 2 R R IS S A
Rt 700,320 3,318 703,638 eI 3,318
s I g ¥
(NE O EiHE RS0 % 6,399
¥5)
& Of R FE A = 5 5,901,359 233,424 6,134,783 |Fx AN L4 148.998
(I R AT e e S Rl ST 4) ’
AE 4
?ﬁ%ﬁé) 18,727
I I AR T
P TR i 17,659 17,659
ko OF % & R 2544173 1,431 2,545,604| B AT AEREURTE 1,431
TH¥ERAKEFESH 165,865 165,865
oK E F ¥ & FF| 4,359,071 4,847 4,363,918 —
R B 7,810
(I$; A% ANE O ’
= 2 49,264,186 2,850,081| 52,114,267




—fREFEE MIE TR

(F35) DFLRNE

( Hip7 - 7))
X 4 4 FE =+ E D HE L2
gHmAEE>
J%Afoeﬁﬁﬁlbf%éi&fﬁ,@@f% 17,000 =3 o T E S E o S
(et B oL TR B R TR 570, BRI
FHLBR 2 K OVRHE ISR LA BN 422 2255,
CHEANR
GEES)
HA%H 5,000
INEEE NRBE I ER OZEZITOHRE 5,000TH
TEEZEZITO%G 2,000FH
BHERE LIS O F #hER1 A $H72Y  5,000TH
% BR20,000FH
(FHE)
HA%H:2,000TH
EMOKEEED
@ Ji 8 ¢ AR 3,779 GEEEREHIPIR S
[ AR TR LT R I LD 8 I~ OB MRS
D728 R OUHE & - B LR DT D DO IEAIIEA R, AR
VIR D% G O KT AR5,
CHEANR
(D3 558 ek IR S i 3l Bh 4
BRI 5 - e HIAL30% DL 0D B H L AR A 9 2 B B R
AN FEWEBS IR BREERT DA
R R1/3, Hil/3
QARG ZFT BB o E = e s g i b S A B 4
BRI S 2 3R 3F LL b Bt AE20all oKD
A AN —Z—[EA
WBhEE B1/2, T1H1/10
<EARED
HTLED - 3,500 *%WWW%%‘S%E BHL TWDERRATIX, EXUN, EREE
ﬁfm ‘ {K:%ﬁ% S50 FU A AR AR ONT Py Db _ﬂa%%f_wu\é_k
CEFZSENIED) ME, BT EL TN ER E LIS & | MERETICR E
LB 5,
CHEAR
BHALAT $e %2855 (BRAE63 L) &35, 9B, BEFDE %
PEHL TR, ST AR L CTEARE L., Oz
WTIERTN S E 5,
BBl A VA FEYIE R A1) AR R REAS
ot 2.583,5081 () fp s py 4 Rk L35 ] 181,508
(2) WMEGREILSFEL 4 [MTEGE] 900,000
(3) At % SR A i KA 4 [MBGR] 219,535
(4) BIERMRMEREHEE [ B 102,600
(5) FEERIREEE R R T [T ] 28,600




(6)

W

®

9)

(10)

B H AR IEEH B I R F 3 (R I k)

EEHERE B [ERTIER]

LA TR T TE ) 1 PR 32 GEES)
CERSONIES!

EAHINESDFE [ER)IFR]

TE S O R (B2 ) [EEST) 1R ]

(13) =t
(N DOFEBR | A P [ J 3 H i 455

12,000

39,000

41,438

81,500

47,300

7,028

627,174

295,865

= &t 2,607,827

A IERRDO M PR ( TH )

(Hb 5 51 23 {1 4> A 528 HiL 5 A3 (1 Fi89,331)

628,466 (il H4x55)

17 A2 B A 88,803
[l 52 H 4 173,123
WS4 28,551
N

kA 1,479,811
ifE 128,800
Z DA,

80,273 (4300, UL AT9,973)

2,607,827




(IR TR e 7 A L R GUIE S i 5 A A= il ey A8 A5 427l FH 97 2 57 26

(BT - T )
=z ¥ A4 4 %A = ¥ D HE B
CEAED
ggiﬁgiggié%m (T A e R T B 2 S
TE TR R R 148,052 ) 9 A PSS O T BV B B A B
[ﬁﬁ%*ﬂﬂ*ﬂ:n%] ’

FRICFF~DOR BN RENERICH LT, 3 THEXHRT
Do
FafT4 141,000 T
(G HEx Gttty )
ERBIIERBL AT DB
D651k LL_ED E i O B O Ry
@FENANE DN
@UEYBIHF
CEBE 7,002TH
PR 18 7203 TH . 14,100TH)

24,700 45

TRERE R OGEEZEBEITH LT, BT A B 5%

TR R S A B A A8 3 3,400
FOEIRTS B SRR DEIEL L5 E AR 510 W i B2
[ZEHERGE] D1%AHB9 2,
FEH D BT i 1,724 ZELREIIHL T, R A BMEFOSKICEILA
BT A HLZEHT 5 L b I [BA RS0 LC RS 2720 DB
[z K Ea) LE BT B,
<MK E
PR U C)%%é%%ﬁ%%ﬁ%%%
EEG)) 23,045 Fea B B IR ED 5, SBPEZ R E T ORE R
D ke R AR BT OB & B AT B,
FAEHIRS 545 D#I20% 55 % K4
—BAHT-Y  25,000~10,000M ., 1,000 . Z5200H
(B EIRAE : 1= (12> %2,000FH)
T A
RERNE /I g s e 5,000 AT T Xy~ —
(75 Tam) Wi = i I Z L DT H DB NER DN TNDIEND,
?ﬁ%%%%ﬂ@bi{ﬁfﬁﬁ?&)ﬁﬁm%67‘:@&:5@75’@?60
. A
2 BAVESTL,000 DAL A S F
G N R AR
EHEHR 118 ~12A8
W& 1REH7=01,000 DIEAZ LA T F I —K
VR REAT , 22T T 2810 24 70 A AU B b
%At
HE
B I HER S B A 281 PIHEBRIC L C, B H A B S E sl Lo B
[Zlb B R i 23 RAY U ON %fﬂﬁ%ﬂ%ﬁﬁ%—ﬁ"%ﬁ@Zﬁj\@l%j@%?éo
= &t 181,508




